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These words were said, when he Kkilled him in an upward manner,
where forgiveness was not available for his accidental killing

Overview

The X713 explains why 9912 1pn X7 is not sufficient to teach us (regarding nin°»
m>p) that the punishment cannot be replaced by payment, because that 105 may be
referring to a killing 7°9v 7172 where 777937 1AW 1071 RY (so it is like MMnan mnn).
The general idea in the X 3 seems to be that if we know that by a more severe
transgression, one cannot redeem himself with money, this does not prove that the
same rule applies to a more moderate transgression. N501N clarifies this point.
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The explanation of 7790% waw N1 X% means only that he cannot find

atonement through the hands of man -
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Even though that 57995 77 is more lenient than 77799 977 as is evident in P95
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Regarding the rule that a 3wn =2 is exiled for killing another 2wn 93 -

m»ooIN responds:
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! See ‘Overview’. mooIN writes "w17°9', in order that we should not mistakenly assume that "9 717 is more severe
than 77> 777 (for 77195% N2W 1001 RY) and therefore because of the X of 7%y 917, we cannot derive 777 7
from 7°%y 717; this is not the case as NdOIN continues to explain.

? See n¥pn ww who explains this to mean that by 7%y 717 he is forgiven by 71, but not 7% 72 (like going to NY73)
as it by 77> 777 (whose 7793 is 07X *7°3; going to M>3). This would seem to make 7> 777 more 7p. See ‘Thinking
it over’.

? The question therefore is, if we already know that there is no monetary forgiveness by 9y 777 which is less
severe, there certainly should not be any leniency of monetary exemptions by 77°7° 777 which is more severe.
However from our X3 it appears that we cannot derive 77> 777 which is severe, from 7%y 717 which is lenient!

* The xm there cites a contradiction between a 7wn and a X092 regarding a 2w7n 73 who killed 3w3 another 3
2w, that he receives either N3 or 7n». The X resolved this contradiction that by 717> 717 he receives 123, but
by %% 777 (where a PX7w” is 1wd from M?3) he is killed. ¥27 asked this is a 1"p; for if by 77771 777 (which is ),
he only receives 123, so why by 7%y 717 (which is %p) should he be executed. We see that 77> 717 is more 2n
than 7%¥ 777.

> Therefore even though regarding other matters 77°1° 717 is more “an than 79y 717, nevertheless since it is only
79 717 who is not 79937 1AW 0% at all, we cannot derive 777 707 (whose MW is 71909 1071 [at least] m7a "y),
from 7°%v 717.
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The level of severity in all cases in our X9%3, only depends on whether it is not
79% N33 all other MmIn are irrelevant —

mooINn proves his point:
P3N XN 61"11)31‘\ NDYIWI NIPPOVY NN VYN POPN 1PN

For the X923 is not concerned with the fact that ;9" 793p® are more severe
than pam »97.

Summary
In regard to redeeming oneself from 7nn by paying 7913, the criterion for

considering a 7in" lenient or severe is dependent on whether or not 77795% 13w 022,

Thinking it over
Why indeed (in regard to redeeming someone from n°» by paying money) do we

disregard the general N7 between the NN and we concentrate only on whether
7199 NI 1071 (S0 it is 9P), or whether it is 77937 MW 71 KD (so it is n)?’

% The x»3 previously stated that from one 109 alone we would only know mawam mn» which are 103w 1307 &Y
7939 (for instance X7 P71 or 1), but we would not know by 77793% jnaaw uncaw n2p mnn (like Ny ,naw ,1'y).
However m™y1 naw 1"y are from the 17%°p0 *2n and 79 W, while %171 X7 Jp7 receive 37m i, so seemingly the
mM>p Mxn are more severe than the i Mn. This proves that regarding this 7%°%, the only thing that matters is if
it is 77993 1071 (then it is 9p) or not (then it is 7vam). All other factors are irrelevant here.

" See nypn now.
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